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s 1131 Cs—134 Cs—137 a5t RiEEH
FRE23%6H28H ND 1,070 1,170 2,240 BEER
Fr2357H268 22 1,200 1,500 2,700 =&HT
Fr2358H29A ND 968 1,130 2,098 =0T
FR2359A26R ND 640 731 1,371 =&HT
F 23510 A 24H ND 815 992 1,807 =0T
F 23511 A30H ND 808 994 1,802 =&HT
FR23%E12A228 || BEHET10) 488 600 1,088 =&H]
FR24%1H268 || BRHEET10) 453 572 1,025 =&H]
FR24%2H248 || BRHEETI0) 424 565 989 = &M
FR24%3A238 || BRHEETKI0) 421 558 979 = &M
FR245F48238 | BRHEETI0) 352 488 840 = &My
FR24F58248 | BRHEET25) 330 430 760 = &My
FR24%6H280 || BRHET(<25) 340 480 820 = &M
FR24%TA31A || BRHEET(<25) 320 470 790 = &M
FR24%8H308 || BRHET(<25) 260 380 640 = &M
FR245F9R8248 | BHET (25 260 400 660 =0T
FRL245%10A 258 || &Y (<25) 290 430 720 = &0
FRE24%11A268 || #HHE9(<25) 220 340 560 = &0
FRE245%12A208 || #HHE9(<25) 200 300 500 = &0
FR25%E1A248 || BRHEET(<25) 200 330 530 = &0
FRE25%2A218 || BRHEET(<25) 120 230 350 = &0
FRE25%3A258 || BRHET(<25) 160 280 440 =&HT
FR25F48238 | BHET<25) 140 240 380 = &HET
FR25%5R17H || BRHET(<25) 140 260 400 =&HT
FRE25%6H208 || BRHET(<25) 46 88 134 =&HT
FRE25%TA0R || BRHET(<25) 38 85 123 =&HT
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FR25F8A28H || &R (<25) 54 110 164 =&
FER25FF9A30R || &R 9(<25) 54 100 154 =&
FR25FF10H308 || #BHET(K25) 35 75 110 =&
FER25F11H298 || #BHEET(25) 41 82 123 =&
FER255F12H208 || BHEET25) 42 87 129 =&
FER26FE1A31H || #®EE9(<25) 35 90 125 =&
FER265F2RH278 || H®EE(<25) 25 61 86 =&
FER265E3A268 || #&REE9(<25) 31 66 97 =&
FRk265E4A258 || B TRIERE<25) 25 63 88 =5&HT
FRR264E5A278 || B TRIERE25) 28 70 98 =5&HT
FRk265E6A27H || B TRIERE<25) 32 62 94 =5&HT
FRk265E7A298 || B TRRIERE<25) 45 110 155 =5&HT
TRk264E8A28H || #H TRIERH(<25) 33 88 121 =5&HT
TRk2659A268 || R TRIERE<25) 29 80 109 =5&HT
FRE264E10H 318 || &t FREREC25) 26 94 120 =5&HT
26511 H250 || $H FRIERM<25) 22 80 102 = &M
265128228 || $HE FRIERM<25) 21 63 84 = &M
ER27F 18298 || i TRIESREC25) 11 39 50 = &M
FER27F2H268 | & TRIEREC25) 14 49 63 = &M
FER27F3H 268 || it TRIERE<?S) | B TRERHC0) 35 45 = &M
ER27F4A27H || & TRIEREC25) 18 45 63 = &M
FER27FE5 8298 || it TRIERE<?2S) | B TRERHC0) 36 46 = &M
276 A308 | i TRIER<25) 11 48 59 = &M
ER27FTA31E || Bt TRIERE<?S) | B TRERHK0) 39 49 = &M
27 FE8H27H || #it TRIERH<25) | B TRERHKI0) 37 47 = &M
FER27F9A28H || i TRIER<25) 14 49 63 = &M
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TRL274E10H26 B || & FRERHE<25) 13 41 54 =&HT
FRk27411H308 320 1 T RR{E R #(<10) 48 58 =5HT
FRk27412H228 52 14 47 61 =5HT
FER28F1H298 || #ih FRIBRH(<25) 11 33 44 =&
ERE285E2H 268 || Bt TRIER(25) | R TRIEKRHHC10) 35 45 =5HT
ERE284E3H 288 || Bt TRIERM(C25) | R TRIERHC10) 25 35 =5HT
ERE285E4H 258 || #t TRIER(C25) | R TRIERHC10) 53 63 =5HT
ERE284E5H 308 || Bt TRRIER(<25) | R TRIERHC10) 45 55 =5HT
FER28F6 A 288 || ik TRRIBRH(<25) 13 60 73 =&
ERE284ETH298 || #Bt TIRIER(C25) | 1R TRIERHC10) 54 64 =&
ERE284E8 308 || Rt TRRIERM(<25) | #RH TRRIERH<10) 46 56 =&
ERE284E9H 308 || Bt TRRIER(<25) | R TRRIERMHC10) 42 52 =&
FRE28E10H 288 || it FIRMER<25) | i FRRIERHC0) 43 53 =&
FRE284E 11 H 288 || Mt FIRMERHC25) | i FRRIERHC0) 35 45 =&
FR28F 125268 || it TRIER#(<25) 14 49 63 =&
FER29F 18318 || Bt TRIERE<?2S) | B TRIERHC0) 29 39 = &M
FER29F2H28H || #it TRIERE<?25) | B TRERHC0) 20 30 = &M
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